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Absolute Value, Plecewise and Radical Functions Review
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Solve the following absolute value inequalities. Gra

ph the solution sef.
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Identify the vertex of the function, fell vw)h“eiher the function opens up or down, and fell whether the

graph is wider, narrower, or the same width as

8. f(x)

-

3]x|-|~2 v Verex (D.2)
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9. glX)=-[x+1]-5 " Vertex: (=] ,"5)

vertex: (3 .0)

10. h(x}=%[x—3]

the graph of f(x) = |x|.
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1. Analyze the c! he function shown in the graph.
a. L;muu 00 90) ’ |
b. range: (—mlm) | | ' |
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d. x-coordinate of point(s) of discontinuity: ‘-\ i‘ \ T ”' A1
€. interval of increase: ( l \) l i |
2 nterval of decrease: L 00 ‘J U [—\ N) t |
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g. Equation:
Flx)

x<3
_ to evaluate the following:

2. Ji8)= J 13.21(0)= Z 14. f(3)= H :
v6>3  BH-l=4  MDER 3(0)42=2 vB43  3(3)f2=||

CGraph the following piece-wise defined function:

Use the function f(x)=1"
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7 write the equation for the piecewise functi ' | .
7. _\\!_ ) -quation 1or the piecewise funciion whose graph is shown. Include the appropriate
restrictions on the domain.

-3, if - 42ye-| o

Fix)= 12)(\' l ) '[ _-_F___*I Z )(!: B l1/ 4 }
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Solve. l i

T 3, N3 :
18, J5x—-4+2=x 12, 3«5)(—8){3”12—3;) 20. (Tp- i 7
(WE2x2)° Sx-8 = |2-3X [ (- N
By e Gomher ] gx-3=12 TP-1 = L4

3 0> xz -ax +g = Tp = ~b3
K _g)(x-1) K2 ==h
[ "
GraphThe following functions and ftell the tfransformations for each.

21. f(x)=2Vx-3+2
hr:(32)
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End

Behavior: X — OO f(x) = >0 Xﬁi f(x) — 2

22.y=-3\x+2+2
(hk: (-2,2)
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